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QUESTION 1

Which of the following is not the SQL injection attack character? 

A. $ 

B. PRINT 

C. # 

D. @@variable 

Correct Answer: A 

 

QUESTION 2

You are working on a pen testing assignment. Your client has asked for a document that shows them the 

detailed progress of the pen testing. 

Which document is the client asking for? 

A. Scope of work (SOW) document 

B. Rule of engagement with signatures of both the parties 

C. Project plan with work breakdown structure 

D. Engagement log 

Correct Answer: D 

 

QUESTION 3

The objective of this act was to protect consumers personal financial information held by financial institutions and their
service providers. 

A. HIPAA 

B. Sarbanes-Oxley 2002 

C. Gramm-Leach-Bliley Act 

D. California SB 1386a 

Correct Answer: C 

 

QUESTION 4
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As a normal three-way handshake mechanism system A sends an ACK packet to system B. However, 

system A does not send an ACK packet to system B. In this case, client B is waiting for an ACK packet 

from client A. 

What is the status of client B? 

A. "Half-open" 

B. "Filtered" 

C. "Half-closed" 

D. "Full-open" 

Correct Answer: A 

 

QUESTION 5

An automated electronic mail message from a mail system which indicates that the user does not exist on that server is
called as? 

A. SMTP Queue Bouncing 

B. SMTP Message Bouncing 

C. SMTP Server Bouncing 

D. SMTP Mail Bouncing 

Correct Answer: D 
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